Total number of printed pages-16
4 (Sem-2/CBCS) HG1/2 (MAE/IRM)
2024
COMMERCE

(Honburs Generic)
Answer the Questions from any one Option.

OPTION-A
( Macroélconomics )

Paper : COM-HG-2016

| OPTION-B
( Insufaucé and Risk Management)
" Paper : COM-HG-2026

- Full Marks : 80

Time : Three hours
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The figures in the margin indicate
Jull marks for the questions. .

Answer either in English or in Assamese.
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OPTION-A (g9 What is meant by exchange rate
' (Macroeconomics) appreciation ?
Paper : COM—HG-2016 Rt I a3 & gome
: (h) What do you mean by net exports ?
1. An the foll
. swer the following questions : =
o wgﬁ:rl 1x10=10 ow IR I B gole
' o () What do you mean by liquidity
(a) What does the aggregate supply curve preference ?
describe ?
SiRey S Ifee & 3ate
@b R <l e () Give the meaning of autonomous
(b) State the condition of equlhbnum in investment.
the money market. ‘ _ o Bt
(A ‘ Fefern RifcaeR = I
Tl TERR SIPIOR 6 S 3w o a |
(c) What is sticky price ? | 2. Answer the following questions: 2x5=10
feoet v Ree : woe. A, erART T il ¢

(a)” Mention any two features of a static

(d) What is the.natural rate of .
unemployment ? economy according to Prof. Clark.
R =g 79 Ry | 'w@%@%w&ﬂfiﬁwﬁﬁwﬁzm
(e) What is meant by sacrifice rauo ? f o | '
! (b) State the reasons for a downward
oot 3 6 g slopping aggregate demand curve.
() What is open economy ? AR Sifat (T4 o R @R FIPRE
o uide 3oy e &t
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() What is Phillips curve ? Draw a Phillips
curve. ,

e ot e BfFa @ g i o)

(d) What are the determinants of business
fixed investment ?

- TR R RRamR Rieng & &
(e) What is liquidity trap ?
Oigey T e

3. Answer any four of the following questions :
5x4=20
TS Rl PG Rl SIS g o

(a) Explain the components of g
demand function ? Bgregate

WWW%’W?}@W'

(b} Explain the effect of cut in taxes on
the level of income, using the IS-LM
curves.
ot Wedfers =9 ZPR 2o R om 1. v
(RRIfoaR TS YIRGT F1 |

(c) Discuss the demand-pull theory of
inflation. :

vifat acafite YRS Seit S =
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(d) Mention the arguments in favour of

fixed exchange rate system.

B R g3 39 60T 93t Yog SER
sl

Write brief notes on the different types
of investment.

RiRcari [ifen eivies [Raw o GRet ol -

Explain the relationship between
speculative demand for money and rate
of interest.

AR TOPER GRS I I e 71
I F9 |

Answer the following questions: 10x4=40

(a) What are the conditions of equilibrium

of an economy ? Discuss the short-run
equilibrium of an economy using
aggregate demand and aggregate supply
approaches. 2+8=10
SIS YR SIS B & [ 2 A
BIfZA S QSN ~S P TR AL G|
I SIFATS! ST |
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Discuss the IS-LM model to determine
the equilibrium rate of interest and level
of income. State the limitations of the
IS-LM model. 7+3=10

O TR % S B9 T 1S-LM

SO} ST 35 | IS-LM S Rk
TER

(b) How is the LM curve affected by the

change in the supply of money and the
demand for money? Explain with
suitable diagram. 5+5=10

W QNN s @F sifT ARwdaga[ LM
@ITE R el e Toiye fHaw 7gme
s

Or/ 924t

Discuss the derivation of the IS curve
from the goods market in an open
economy with suitable diagram. 10
G4 I& TLRIfeT TIF IE@T© IS ([l

(P WiiRgd 41 W ooz St 31|
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(c) Explain the nature of cost-push

inflation. What measures would you
suggest to control such inflation ?

: 6+4=10
Terlva JAGRS JEFIOT oS IOt |
IR IS REER IR ol [ e
SRCHIEI 2

Or/ 2!

What is inflationary gap? Explain
inflationary gap with a diagram. How
can the inflationary gap be wiped out ?

2+5+3=10

JErRIeY MY e o TS JErdifes
IRYA JRA 9| TAEFIST ING (TR
siesi e

Discuss Keynes’s reformulation of the

‘quantity theory of money. How is it

superior to the traditional quantity
theory of money ? Explain.  6+4=10

@R AR OE @R -2 R
QG I | 2RO IR AR OGO 3
@R TeFB 2 L [ |

Contd.




Or/ 939!

Discuss the cash balance approach of
the quantity theory of money. How is it
superior to the transactions approach
of the quantity theory of money?
Explain. 6+4=10

T AR G W SR AT SiEiva

‘F_ | @R ARG O GWoW Amfees 3
_W%ﬂf@?wwn
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OPTION-B
(Insurance and Risk Management)
Paper : COM-HG-2026

1. Choose the most appropriate answer for the
following questions : 1x10=10

woTe il SEINe TolYe Tes@l Ao Bfereat ¢

(a) Disaster Management Act was passed
in the year

Tl R SR o R
(i) 2002 (k003 5S)
(i) 2003 (X009 H9)
(iij) 2005 (Roo¢ BFS)
(iv) 2006 (R00Y 5S)

(b) Which of the following is an example of
systematic risk ?

O CRINCO! AT O Wct?
(1) Inﬂatlonary risk
- Erfifesie o
(i) Interest rate risk .
o] PN Ffou!
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(iii) Foreign exchange risk

e R e
(iv) All of the above

G DR
() Re-insurance can be called as

SIS T ol TN

(i) insurance of insurance
S o |

(ii) insurance of insurers
0 AR At

(iii) insurance of insurance policy
A A T

(iv) None of the above
GITT B8 T

(d) Insurance agents for insurance
companies are appointed by

[ @iTre A TS Kot wg

(i) central government

@RI SR

(i) state government
e AW
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(e)

(iii) IRDAI
oz, e, . . =«
(iv) None of the above
B9 OIS WA
The head office of LICI is situated at
oo Gk SR 7 G SRIYS
(i) Kolkata
Tl
(i) Mumbai
iR
(iij) Delhi
fam
(iv) None of the above
§ @ofFY I8 T

Hilé)AI was established in the year

IRDAI B 31 &

(i) 1995 (555¢ 579)
) 1999 (335> 579)
(ii) 2000 (3000 57S)
(iv) 2001 (300> 57°)
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(g) Risk is the effect of uncertainity on 2. Give brief answer to the following questions :
objectives. The statement is 2x5=10

TR (R e qoTeR 2or| ¢z weTe fral ePTyRe b el fual 8

g ~ (a) Write two features of risk.

i) true (¥7) HOIPR 70 @MY i

(i) false (S137) (b) Explain the concept of insurable
() “Fire insurance is a contract of interest.

‘l.lbermma‘f(;T fidei.” The statement is RWicasy LS G=AD [t ]|

W q m@ ﬁma »

0 (%) " B @R 2 (c) Write two features of insurance.

1) true (¥

A= 707 =P o

(i) false (qBT) m o . .
() “Insurance does not play any role in @) Mentlon two advantages of life

the economic development of the sHrence. *

country.” This statement is G R 757 R4 T =4 |

“ (R AP S WW@WW (e) Explain the concept of insurance

AT A 1 4R AW ombudsman.

i) true (¥@) T CHImoNEE AIREICHT It |

(i) false (T®%) . .
3. Answer any four questions from the

() ‘“Insurance in India is governed by th, o .
Banking Regulation Act, 194 9.”}’ Th: following in about 200 words eaChéx4=20
statement is . '

“eirTe T Wi @R W o saeng , ©TS [T S5 e ATORCE A 000! N
TRl +AfRbifFTe =17 @R AR =] foese Tex ol 8
' (a) Explain the different types of risk.
Hoaicpiy Rfen AFIFRR IR =41

(i) true (9%) l
(i) false (&%) |
|




(b) What are the processes of rigk
management ? Explain.

FOI SiRbI TR R Roe gt 2|

(c) Distinguish between ins
. uranc -
insurance. ©andre

(d) !Brieﬂy' mention the advantages of
Insurance to a business concern

TS I RUIER 5505 Srar o |

(e) Explain the main fea .
insurance. fures of marine

GTTWWWWRWW|

() Explain the condition i
S of in i
under a contract of insura.ncedernnlty

<t TR TS oo o |

Answer 'any. Jour of the followi
3 n i
in about 600 words each : s quff::g

7 o oo T Bz e

(a) What is measurement of risk ? How can
it be measured ? 5+5=10

TSR AR WA 2 20 @i iRyl
W =A?
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(b)

(c)

(@

(e)
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What do you mean by assignfnent of
insurance policies? Explain the’
conditions for the valid assignment of
insurance policies. 4+6=10
Ton e @S e [ gare Tt NI <4
SIRTAT FEIR RT3

Discuss the fundamental principles of
insurance.

IR 1 AT S 4|

What are the different types of life
insurance policy ? Discuss in brief.
& Tt sl Rt erR B &2 oxte
Al ¥ : ' '

Discuss the role of Insurance
Regulatory and Development Authority
(IRDAI) as per the IRDAI Act, 1999.

o TAY OIS T AT S T et
w31 W& (IRDAI Act, 1999) ©IReT Tl
RIS S%: BT AR S Sl <1 |

Discuss the origin and development of
insurance in India.

oo TR el s Trgms Rac s
|




(9

)

Explain the term ‘malyp>ractice’ with
reference to insurance irdustry. Give

suitable examples in this regard.

A Trme o wRe S HOR 5

I Y | (B TTSE TAYT i 3t

Explain the
in regard to
4+6=10

What ig negligence ?
€lements of negligence
Insurance,

Q"’\‘*‘% I R TR =g i M
IRINGRR ot < | '
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